8% LAPPSET. m

Impact Area EN 11'@@ REF:

Copyright Lappset Group Ltd

] DATE:

20.2.2018

]

]

h <600

Without movement
and therefore
without Impact Area

Totally hard surfaces.

Note. Lappset does not recommend
totally hard surfaces at all.

E.g. concrete or asphalt

h <600

With movement
e.g. rocking

Materials with very limited
impact attenuating
properties.

E.g. wood
U 1Y Dl 1Y i

h <1000

Materials with significant
impact attenuating
properties.

fine gravel 0—8 mm

TAdag g TRt ama ), 9% 98 Jaga
sen i a3 3% 50 eml Ll

T e - - 4.4 . 44
grass

h <3000

L oose fill material

F.g. Toee
sand/gravel 0,25...8 mm D60/D10<3,0 | = o :
Woodchips 5...30 mm : ae Ol
bark 20...80 mm “a . ) 3
= =TT
S h
30 cm < 2,0 m
40 cm < 3,0 m
Syntethic granulates ’—‘
S h
40 mm ~> 1,2..1,3 m S
50 mm ~> 1,5...1,7 m RS I Al /%/j‘
60 mm ~> 1,8...2,0 m :::*:7:*:::::::::::::::
70 mm ~> 2.1..2.5 m —— e

Note. For accurate values, see
manufacturer’'s instructions.



lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text


% LAPPSET.

EN 1176 FOUNDATION

REF:
DATE:

20.2.2018

REMOVE SAFETY SURFACE /SAND/GRAVEL
TO CHECK FOUNDATION

9

REMOVE SAFETY SURFACE /SAND /GRAVEL
10 CHECK FOUNDATION

Copyright Lappset Group Ltd




% LAPPSET.

THEME

Q03487

DATE: 6.6.2013

1(3)

Copyright Lappset Group Ltd

(1) 702341 |es|(2) 703064

90x50 400x400x20

PCS

(3) A00367 |pcs|(4) 901487
¥

M10x40

903192

M10x100 20x200

() 903191

o M10x35
70 & (902252)

=<

©220/10.5%x2

////(901302)

g_/_Mm
T (909637)

~_19x21x25
(903193)

PCS




% LAPPSET.
THEME

Q03487

DATE:

6.6.2013

2(3)

1150

980

Copyright 1998 Lappset Group Ltd

400 400
EN Impact Area 8.2 m2
————Fadlling Space 8.2 m2
Max Falling Height 450 mm
1150 |
\ 1150
I

1100

E

2670

3450




% LAPPSET. Q03487

THEME DATE:  6.6.2013 3(3)
DET 1
Actual angle of rotation between
Safety equipment body and ground plate
SUrface ﬂ may vary. Allways point the
l equipment to desired direction before
l | drilling holes to base.
SR === REXEEES :
o0 P76 o 0o, Tuotteen asennuslevyn ja rungon
o L° ©© O@o vdlinen kulma voi vaihdella. Suuntaa
© ° o \” © vdline ennen ankkurointireikien

poraamista alustaan.
M10x100 (909628)

DET 2 M10x40 (901487) DET 3

©20,/10.5x2 (901302)

M10 (909637)

ﬂ
=~ ©20/10.5x2 (901302) I
> ° M10 (909637) M10x40 (901487)

Copyright Lappset Group Ltd

DET 4 DET 5

o O
O
N
A
O (@]
Muoviosan sijoitus (903193)
O Position of the plastic piece
Ojl 520





















